
Erbijsommen tot 50.000

Oefening 1

1. 22.105 + 7.880 =   

2. 19.178 + 8.124 =   

3. 24.891 + 8.725 =   

4. 17.701 + 9.222 =   

5. 11.617 + 6.399 =   

6. 19.989 + 19.585 =   

7. 21.494 + 20.255 =   

8. 7.586 + 6.364 =   

9. 18.429 + 16.314 =   

10. 10.839 + 8.990 =   

Oefening 2

1. 22.847 + 15.251 =   

2. 10.649 + 7.458 =   

3. 10.489 + 9.695 =   

4. 15.108 + 12.636 =   

5. 16.667 + 6.233 =   

6. 23.475 + 19.783 =   

7. 24.493 + 10.822 =   

8. 14.030 + 10.690 =   

9. 9.322 + 8.195 =   

10. 17.541 + 8.608 =   

Oefening 3

1. 15.645 + 5.300 =   

2. 20.053 + 16.604 =   

3. 9.259 + 5.832 =   

4. 15.671 + 14.659 =   

5. 16.250 + 13.866 =   

6. 19.655 + 17.083 =   

7. 20.392 + 11.795 =   

8. 19.555 + 12.975 =   

9. 13.874 + 13.834 =   

10. 21.673 + 17.045 =   

Oefening 4

1. 17.895 + 5.470 =   

2. 20.064 + 14.198 =   

3. 23.854 + 9.557 =   

4. 21.808 + 11.219 =   

5. 24.578 + 15.979 =   

6. 24.370 + 22.815 =   

7. 22.003 + 14.227 =   

8. 15.263 + 6.194 =   

9. 10.497 + 7.069 =   

10. 7.433 + 5.932 =   
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Oefening 1

1. 22.105 + 7.880 =  29.985

2. 19.178 + 8.124 =  27.302

3. 24.891 + 8.725 =  33.616

4. 17.701 + 9.222 =  26.923

5. 11.617 + 6.399 =  18.016

6. 19.989 + 19.585 =  39.574

7. 21.494 + 20.255 =  41.749

8. 7.586 + 6.364 =  13.950

9. 18.429 + 16.314 =  34.743

10. 10.839 + 8.990 =  19.829

Oefening 2

1. 22.847 + 15.251 =  38.098

2. 10.649 + 7.458 =  18.107

3. 10.489 + 9.695 =  20.184

4. 15.108 + 12.636 =  27.744

5. 16.667 + 6.233 =  22.900

6. 23.475 + 19.783 =  43.258

7. 24.493 + 10.822 =  35.315

8. 14.030 + 10.690 =  24.720

9. 9.322 + 8.195 =  17.517

10. 17.541 + 8.608 =  26.149

Oefening 3

1. 15.645 + 5.300 =  20.945

2. 20.053 + 16.604 =  36.657

3. 9.259 + 5.832 =  15.091

4. 15.671 + 14.659 =  30.330

5. 16.250 + 13.866 =  30.116

6. 19.655 + 17.083 =  36.738

7. 20.392 + 11.795 =  32.187

8. 19.555 + 12.975 =  32.530

9. 13.874 + 13.834 =  27.708

10. 21.673 + 17.045 =  38.718

Oefening 4

1. 17.895 + 5.470 =  23.365

2. 20.064 + 14.198 =  34.262

3. 23.854 + 9.557 =  33.411

4. 21.808 + 11.219 =  33.027

5. 24.578 + 15.979 =  40.557

6. 24.370 + 22.815 =  47.185

7. 22.003 + 14.227 =  36.230

8. 15.263 + 6.194 =  21.457

9. 10.497 + 7.069 =  17.566

10. 7.433 + 5.932 =  13.365
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